2RXS J062113.2+441429

gamm*bbdy

930913 0075

LR LU LA
o
— o
_%
S
- o
S ITE RN | Dbt IR =
3 g 7
S = S
(A93 s zwd)/suojoyd
I LA UL LLARE
o
— o
u _
=
- 1o
= FE N I A A Dbvrvr 1 [111 1+

o
o

i

T T
S =
(A®¥ s)/syuno)

Energy/keV

Energy/keV

- o N
S ? 9
T B 5
- O
2 b
- N o
| | |
+ o+ o+
- N O - O
T 7T 9T 99
[T = R S RS
© ¥ o & <
© 9O o wv -
N N = = M
I
v I
—
© —_
S ] >
0 [ E
g 2 =T — o
n = Z = =z
TIT[TTT T[T [ TIT [ TTTT 0T

I
%

W RARRRRANRRE

prlinna g

N —- o - QO

s[enpisay

1.00

0.10

X%rea = 0.78

Energy/keV



